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NEW QUESTION 1
What is the main component responsible for integration between Datacap and Business Automation Content Analyzer?

A. Content Analyzer connector
B. Content Analyzer actions

C. Datacap connector

D. Datacap actions

Answer: A

NEW QUESTION 2
Which statement describes User Management Service Teams?

A. An option to perform authorization on behalf of the apps and components

B. A company-wide API tool that manages business-oriented user KPIs

C. A company-wide user registry with many groups

D. A collection of users, groups, and other teams to administer global units across different Cloud Pak components

Answer: D

NEW QUESTION 3
What is one of the expected outputs of Business Automation Insights event processing?

A. Kafka Topic
B. Summaries
C. Raw events
D. Dedicated Flink job

Answer: A

NEW QUESTION 4
What is the core embodiment of a Robotic Process Automation scenario?

A. Automating thought-driven tasks in an enterprise

B. Utilizing Automation-as-a-Service within the Cloud

C. Automating repetitive tasks across multiple interfaces
D. Utilizing automation bots to cognitively craft code

Answer: A

NEW QUESTION 5
Which command is used to delete snapshots from the Workflow Center server? Available Choices (select all choices that are correct)

A. BPMDeleteProcessApplication
B. BPMRemoveProcessApplication
C. BPMRemoveSnapshot

D. BPMPurgeSnapshot

Answer: C

NEW QUESTION 6
Which statement is true regarding the security setting4s of exposed Business Automation Workflow capabilities as web services?
Available Choices (select all choices that are correct)

A. There are no custom security settings on exposing the Web services, they inherit the Process Agp_ security.

B. The web services follow their own security model, they do not relate to the Process Ap_p_ security.

C. There are no security capability features when exposing the BAW capabilities, they should be covered by another secured layer.
D. Custom security can be set on the webservice and must also comply with the Process Application security.

Answer: D

NEW QUESTION 7

Whichis a required property of the IBM BPM Document type? Available Choices (select all choices that are correct)
A. IBM BPM Document DocumentID

B. IBM BPM Document FileNameURL

C. IBM BPM Document Processinstanceld

D. IBM BPM Document FileType

Answer: A

NEW QUESTION 8
What is one of the main functions of User Management Services (UMS) in Cloud Pak for Automation?
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A. Administer global teams for Cloud Pak components
B. Certificate management

C. SAML token generation

D. Provide centralized user registry (LDAP)

Answer: A

NEW QUESTION 9
Which process capability should be used for a use case requiring manager escalation when a task is not completed?

A. Business Automation Workflow
B. Blueworks Live

C. Robotic Process Automation
D. Workstream Services

Answer: D

NEW QUESTION 10
What configuration is needed to allow access to case information on an external Filenet system for a Business Automation Workflow (BAW) user?

A. Single sign-on between Filenet and BAW must be configured.

B. The user authorization needs only be set on Filenet and is propagated automatically when integrating with BAW.
C. The user authorization needs only be set on BAW and is propagated automatically when integrating with Filenet.
D. If Filenet and BAW depend on different LDAP servers, the user must exist in both of them.

Answer: C

NEW QUESTION 10
Which Al service can be used to build a conversational interface that feeds the user inputs to Content Analyzer?

A. Machine Learning
B. Watson Studio

C. Knowledge Studio
D. Watson Assistant

Answer: A

NEW QUESTION 15
What is the minimum system configuration that is needed for a developer to run playbacks? Available Choices (select all choices that are correct)

A. One Workflow Server instance as development environment connected to the Workflow Center.

B. Depending on whether the Business Automation Workflow is on premise or on cloud, the developers may need a local Workflow Server instance on their
machine or on the cloud.

C. A Workflow Center with no Workflow Servers created.

D. A local Workflow Server instance on their machine connected to the Workflow Center.

Answer: D

NEW QUESTION 17

Which client-side human service building block can be used to add a custom CSS to a coach?
Available Choices (select all choices that are correct)

A. Layout OB.

B. Panel

C. Custom CSS

D. Custom HTML

Answer: C

NEW QUESTION 19
What are two uses of the Save service implementation under the Behavior tab in the business object definition shown below? (Choose two.)
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® BusinessObject! v+ ) @ Last updated seconds ago by you

Name BusinessObject1 Definition type Complex type W
Moafed ¥3531299 (Feb 1 L1 AN Shared object
Documentation B I U _ . Save service " Save Service 1 | setect || New | X

' & -

v W Parameters ®
@ string1 (String)
@ integer1 (String)
» @ var2 (BusinessObject2)

> Advanced Properties

A. Provide a service that can be called by an Undercover Agent when an event accesses the shared business object.

B. Handle any data validation errors for the shared business object only within the "Save service".

C. Validate or manipulate the data that is saved to the shared business object.

D. Apply an alternative merge result in case the shared business object is saved in more than one place.

E. Save a specific version of the shared business object, even when the shared business object is updated at the same time.

Answer: CD

NEW QUESTION 21
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